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Uveďte postup řešení. 

3.1 

 

 

 

 

 

3.2 

___________________________________________________________________________ 
 

1 bod 
 

Úloha 3.1 

Proveďte početní operaci 
 

2𝑥 − 3 − 𝑥 = 

___________________________________________________________________________ 
 

V záznamovém archu uveďte celý postup řešení. 

 

 3 

 

 

 

  



Úpravy výrazů-M9-15-PID-03-1 

Strana 2 (celkem 2) 

Uveďte postup řešení. 

3.1 

 

2𝑥 − 3 − 𝑥 = 𝒙 − 𝟑 
 

 

3.2 

___________________________________________________________________________ 
 

1 bod 
 

Úloha 3.1 

Proveďte početní operaci 
 

2𝑥 − 3 − 𝑥 = 

___________________________________________________________________________ 
 

Řešení 
 

2𝑥 − 3 − 𝑥 = 
 

 
___________________________________________________________________________ 
 

V záznamovém archu uveďte celý postup řešení. 
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